VvV

restart

= ﬁ
—2x4 + (>
Ecuacion :==-2-x-y(x (3-x-2 —y(x ) -diff (y(x),x) =0
Ecuacion .= -2 xy(x) + (3x —y(x) ) (%y(x)) =0 €))

with(DEtools) :

odeadvisor(Ecuacion)
[ [ _homogeneous, class A], rational, dAlembert] )

EcuacionSegunda = simplify(isolate(eval(subs(y(x) =u(x) -x, Ecuacion) ), diff (u(x),x)))

_ 2
EcuacionSegunda = 4 u(x) =- u(x) (-1 + u();) ) A3)
dx X ( -3 4+ u(x) )
~ 2
R = u( -1 —i—u2 )
(-34u)
Ro= u(—1+u2) )
-3+
SolucionGenerallndicada = Int( %, x) +Int( %, u) =C,
. _ 2
SolucionGenerallndicada :=J 1 dx + {3—4_”2 du=C, )
X ) u( -1+4+u )
SolucionGenerallntermedia = int( %, x) + int( %, u) =C,
. . -3+ _
SolucionGenerallntermedia := In(x) + > du=C, (6)
u( -1+u )
isolate(expand(dsolve( Ecuacion) ), CI)
22
o= Lo ™
- y(x)’

restart
Ecuacion = x-diff (y(x),x) =y(x) +sqrt(y(x)--2 —x--2)

Ecuacion =x (% y(x)) =y(x) ++ y(x)2 — ¥ ¢))

with(DEtools) :

odeadvisor(Ecuacion)
[ [ _homogeneous, class A], rational, dAlembert] )

EcuacionSegunda = simplify(expand (isolate(eval(subs(y(x) =u(x) -x, Ecuacion) ),

diff (u(x),x))))

(Mm



EcuacionSegunda := % u(x) = 2
2
u —1
o LD
x
2
o Nu —1
Q: B
R:=Vu*—1
R=vu*—1

SolucionGenerallntermedia = int( - %, x) + int( %, u) =C,

SolucionGenerallntermedia :== -In(x) + ln(u ++ u—1 ) =C,

SolucionGeneralSegunda = simplify(exp(lhs (SolucionGenerallntermedia))) = C,

/2
SolucionGeneralSegunda := utvu =1 _ C,
RS

SolucionGeneralFinal == expand (subs(u = %, SolucionGeneralSegunda) )

2
L1
SolucionGeneralFinal := -% + + =C,
X
SolGral := simplify(lhs( SoluczonGenemlFmal ) =rhs(SolucionGeneralFinal) -x

SolGral =y + | - x= Cx

SolGralDos = lhs(SolGral) —y =rhs( SolGral

SolGralDos = | - —|-x x=C, X -y

SolGralTres = lhs(SolGralDos _ rhs(SolGralDos)

/ - C e -y
SolGralTres = y —|—x

SolGralCuatro = expand(lhs(SolGralTres)--2) =rhs SolGralTres) -2

Cx —y
SolGralCuatro = Lz —1= #
X b9

SolGralCinco = expand(lhs(SolGralCuatro) -x--2) =rhs(SolGralCuatro) -x- -2
2
SolGralCinco :=y2 — = (Cl e —y)

SOlucion = isolate(dsolve( Ecuacion), CI)

2

(10)

an

(12)

13)

(14)

15)

(16)

17

(18)

19)

(20)

M1



SOlucion = €1 =2 4 N yx) —x @1
X X

=> SolGralSeis = isolate(SolGralCinco, Cl)

22
SolGralSeis := ¢, = LT =X 22)

X




